
HW [17]: Like we did in class, the 

table below is what we covered in 

class. What you need to do is to 

generate the same table using the 

verb ََزَرَع. Identify the root. 

Type 
Count and 

Gender 
 
ْ
وُع
ُ
 وَالن

ْ
د
َ
عَد

ْ
 ال

Past 
ِي   
عْلْ مَاض 

َ
 ف

3rd Person 

بْ  ائ 
َ
 الغ

1M 

ر
َّ
ك
َ
 مفرد مُذ

He did 

عَلََ
َ
 ف

1F 

 
 
ث

َّ
ن
َ
 مفرد مُؤ

She did 

 
ْ
ت

َ
عَل
َ
 ف

2M 

ر
َّ
ك
َ
نّ َّ مُذ

َ
 مُث

They both 
did 

 
َ
عَل

َ
 ف

2F 

 
 
ث

َّ
ن
َ
نّ َّ مُؤ

َ
 مُث

They both 
did 

ا
َ
ت
َ
عَل
َ
 ف

3+M 

ر
َّ
ك
َ
 جَمْع  مُذ

They all did 

وُا
َ
عَل
َ
 ف

3+F   

 
 
ث

َّ
ن
َ
 جَمْع  مُؤ

They all did 

نَّ 
َ
عَل
َ
 ف

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Type 
Count and 

Gender 
 
ْ
وُع
ُ
 وَالن

ْ
د
َ
عَد

ْ
 ال

Past 
ِي   
عْلْ مَاض 

َ
 ف

3rd Person 

بْ  ائ 
َ
 الغ

1M 

ر
َّ
ك
َ
 مفرد مُذ

He farmed 

 
 

1F 

 
 
ث

َّ
ن
َ
 مفرد مُؤ

She farmed 

 
 

2M 

ر
َّ
ك
َ
نّ َّ مُذ

َ
 مُث

 

They farmed  

 

2F 

نّ َّ 
َ
 مُث

 
ث

َّ
ن
َ
 مُؤ

They farmed 

 
 

3+M 

ر
َّ
ك
َ
 جَمْع  مُذ

They Farmed 

 
 

3+F   

 
 
ث

َّ
ن
َ
 جَمْع  مُؤ

They farmed 

 
 

 


